1.ClientimfE3Z TopologyZ|nimbus
RGBS
storm jar WordCount.jar com.stone.WordCountMain wordcount
SChR ERVER
java -client WordCount.jar com.stone.WordCountMain wordcount
2.8 TopologyBuilderi&Spout, BoltiZiR—EHZiBINFII7E Topologyf2FF.

TopologyBuilder builder = new TopologyBuilder
builder.setSpout("spoutl"”, new RandomSentenceSpout 3
builder.setBolt("splitl", new SplitSentenceBolt 9).shuffleGrouping("spoutl”

builder.setBolt("count2", new WordCountBolt(),3).shuffleGrouping("splitl”

3.1AF TopologyBuilderfcreateTopology()/53% , $KEXStormTopology3EFIRTER, RSN :

public StormTopology createTopology
Map<String, Bolt> boltSpecs = new HashMap<String, Bolt
Map<String, SpoutSpec> spoutSpecs new HashMap<String, SpoutSpec
for (String boltId : _bolts.keySet
IRichBolt bolt = _bolts.get(boltId
ComponentCommon common = getComponentCommon(boltId, bolt
boltSpecs.put(boltId, new Bolt(ComponentObject.serialized java(Utils.javaS

00 N OV A WN R

erialize(bolt common

for (String spoutId : _spouts.keySet
IRichSpout spout = _spouts.get(spoutId
ComponentCommon common getComponentCommon(spoutId, spout
spoutSpecs.put(spoutId, new SpoutSpec(ComponentObject.serialized_java(Util
s.javaSerialize(spout common

return new StormTopology(spoutSpecs, boltSpecs, new HashMap<String, StateSpout
Spec

4 FHRIEZES , BNIRENT -
(1) A StormSubmitter. submitTopologyWithProgressBar("WordCount", conf, builder

.createTopology () )23 4F 55«

submitTopologyWithProgressBar LU T :



public static void submitTopologyWithProgressBar(String name, Map stormConf, Storm
Topology topology, SubmitOptions opts) throws AlreadyAliveException
InvalidTopologyException

submitTopology(name, stormConf, topology, opts

(2) fEsubmitTopologyWithProgressBarJiixH, M ' StormSubmitterf’submitTopology (nam
e, stormConf, topology, opts 7%

submitTopology /7 V2 YRS U T -

public static void submitTopology(String name, Map stormConf, StormTopology topolo
gy, SubmitOptions opts) throws AlreadyAliveException
InvalidTopologyException

if (!Utils.isValidConf(stormConf
throw new IllegalArgumentException("Storm conf is not valid. Must be json-
serializable"

stormConf = new HashMap(stormConf

stormConf.putAll(Utils.readCommandLineOpts
Map conf = Utils.readStormConfig
conf.putAll(stormConf
putUserInfo(conf, stormConf
try

String serConf = Utils.to_json(stormConf

if (localNimbus null

LOG.info("Submitting topology " name + " in local mode"

localNimbus.submitTopology(name, null, serConf, topology
else

NimbusClient client = NimbusClient.getConfiguredClient(conf
try

if (topologyNameExists(client, conf, name

throw new RuntimeException("Topology with name ™" name "
already exists on cluster"

submitJar(client, conf

LOG.info("Submitting topology ' name in distributed mode wit




h conf " serConf

if (opts null
client.getClient
topology, opts
else

client.getClient

finally
client.close

catch

throw e
catch (AlreadyAliveException e

throw e
catch (TopologyAssignException
LOG.warn("Failed to assign "
throw new RuntimeException(e
catch (TException e

LOG.warn("Failed to assign
throw new RuntimeException(e

fE submitTopology () 7 iEH , 7 — F LAE:
1)

Utils.isValidConf(stormConf

2) ¥KiTopologyltjia T A=

localNimbus.submitTopology(name, null
3) WA AR IS AT
topologyNameExists(client, conf, name

submitJar(client, conf

LOG.info("Finished submitting topology:
InvalidTopologyException e
LOG.warn("Topology submission exception”, e

submitTopologyWithOpts(name, path, serConf

optsiX B NACTIVE

submitTopology(name, path, serConf, topolog

name

LOG.warn("Topology already alive exception”, e

e.get_msg e

serConf, topology



// STONE_NOTE Hii$2x2 7750, #iroptsS 4 23 TopologyfT %%

client.getClient().submitTopologyWithOpts(name, path, serConf, topology, opts);
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